ICS 103 (072)

HW4
Due Date: Friday May 23,  2008
Question 1: (  30 points) 
    Write a function that receives 2 1-D arrays of type int and n representing their size.  You function will return 1 if they are identical i.e. the corresponding elements are equal.  If not, it returns 0.

Write a main function to test your function.  You main function must work as shown below.
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Enter how many elements are in each array>?
Enter 7 values for array 1>

1257 9 -3 10 =
Enter 7 values for array 2>
1237 9 -3 10

The two arrays are not identical




 [image: image2.png](Inac CWIN\BIN\NONAMEQ'

Enter how many elements are in each array>8
Enter 8 values for array 1>

189 46 7 0 13

Enter 8 values for array 2>

189 46 7 0 13

The two arrays are identical





Question 2: (30 points) 
Write a function that receives an array of type double and n representing how many elements are in the array.  The function will return the largest difference in absolute value between 2 consecutive values. 

If the array name is a and the number of values is n, then the function will return the largest among the following values:

|a[1]-a[0]|, |a[2]-a[1]|, |a[3]-a[2]|, …….., |a[n-1]-a[n-2]|

Your main function will work as shown below:
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Enter how many elements are in the array>8
Enter 8 real values for the array>

0 -12.56 11.44% -1 15.46 18.75 30.25 -2.25

The largest difference in absolute value is 32.500000

o





Question 3: (40 points) 
Write a function that receives an array of type int, a target to look for and n representing the size of the array. The function also receives an array loc.  Then, in addition to returning how many time the target is present in the array, it fills the array loc with 0’s in location not containing the target and 1’s in location containing the target.   

For example if the function receives this array {1,6,4,9,6,8,0,6} and receives 6 as target.  It will return 3 ( 6 is present 3 times) and the array loc will be as {0,1,0,0,1,0,0,1}.

You main function should work as shown below:
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Enter how many elements are in the array>? |
Enter 7 values for the array>
16 8 9 10 8 3

Enter a target to look for >11
Sorry 11 is not in the array
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Enter how many elements are in the array>8
Enter 8 values for the array>
15086575 10

Enter a target to look for >S5

5 is present 3 times in the array

The index values uhere 5 is present are

1 4 3





Instructions:

- Change your WebCT password if you have not done so.  This is your responsibility. Some cheating cases involved students getting to accounts of other students without their knowledge.
-You need to write 3 files quest1.cpp ,quest2.cpp, quest3.cpp  (the files you save from the turbo compiler)
-upload the files one by one using the “upload file” button of webct. 

- submit it through WebCT by clicking  “submit assignment” option of webCT.  
This should be no later than Friday May 23, 2008 at midnight.
- No group work is allowed.  The homework solution has to be your own work. any cheating will lead to severe consequences. 

